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Problem lp Up
trussl 8.99999e+000 | 8.99999e+000
arch0 -Inf | -5.66517e-001
controll -1.77846e+001 | -1.77846e+001
gppl00 -Inf | 4.49435e+001
mcpl00 -2.26157e+002 | -2.26157e+002
mcpl24-1 -Inf | -7.02392e+-001
qapb 4.35999e+002 | 4.36000e+002
thetal -2.30000e+001 | -2.29999e+001
theta2 -3.28792e+001 | -3.28791e+001
truss2 1.23380e+002 | 1.23380e+002
truss3 9.10999e+000 | 9.10997e+-000
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1. CPU : Intel(R) Pentium(R) M processor 1.20Hz
2. Memory : 758MB
3. OS : Windows XP

4. MATLAB 7.1.0.246(R14) Service Pack 3
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